1) Morgan and Eva's mum asks them to estimate how much change she will get if she pays for her
shopping with a £20 note.

Morgan says, "I estimate Mum should get approximately £7 in change."
Eva says, "I think Mum's change will be closer to £8."

Who is correct? Explain your answer.

2) a) Correct any mistakes by drawing new arrows to show the numbers on the correct place on the
number line.

£6.25 £6.05 £6.89

b) Which of these amounts will round to £6 to the nearest pound?

3) Aneesha has five purses with different amounts of money in each. Decide if each statement is true or
false. Explain your answers.

a) When rounded to the nearest pound, only purses A and D round to £11.

b) When rounded to the nearest pound, the approximate total of purses B and E is £20.

c) Aneesha can pay for her £55 shopping using the approximate total of the money in the five purses.
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